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cos(oc +ﬁ)=cosa cos B —sina sin 3
cos(a — ) =cosa-cos B +sina-sin
sin(a+ B)=sina-cos B +cosa-sin 3

sin(a— fB)=sina-cos f —cosa-sin

g +1 g —t
g+ p)=-"0"BP 1 g py= 1821EP

l1-tga -tgf l+tga-tgf

ctgo - ctgf —1 ctgo-ctgf +1
ciglo+ B)= B IPL cig(o - py = 8% I8P

ctgo + ctgf3 ctgfy —cteo
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Ay

a+p

M_(cos a;sin a)

M., (cos (-B);sin (-B))

M . (cos (a+B);sin (a+ B))

a+f3 (

£POMa+B = ZM ;OMa

= APOMo+B = AM ,OMa
= PMa+3 = M_BMCX

= (PMa+B)? = (M_BM(J()2
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P(1;0) M_; (cos (-B);sin (-B))

M,.; (cOs (a+B);sin (a+ B)) M, (cos a;sin a)
(PMa+g)? = (/W_B/\/IO()2
= (1 - cos(a+PB))? +(0-sin(a+pR))? = (cos(-B) - cos a)? +
+ (sin(-B) - sin a)?
& 1-2cos(a+B) + cos?(a+B) + sin?(a+B) = cos? B -
- 2c0s B cos a + cos? a + sin? B + 2sin B sin a + sin® a
& 2 -2cos(a+f3) =2 -2cos acos 3+ 2sinasin 3
< cos(a+p)=cosacos B -sinasinf

cos(a +,B)=cosa cos B —sina sin 3
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m cos(a-B)="7?

m cos(a- ) =cos(a+ (-f)) =cos acos(-B) - sin a sin(-p)=
=cosacosfB+sinasinf
LokaxeMm BcrioMmorarernbHble PopMynbi:

m COs(T/2 —a) =sina

x Sin(1r/2 - a) =cos a

m COS(TT/2 — a) = cos(11/2) cos a + sin(11/2) sin a = sin a
m T.e.cos(mm/2—-a)=sina

x [lpna=1/2 - nveewm:

m cos(Tr/2 — (/2 —B)) =cos(m/2 —1/2+3) =cos P =
=sin(11/2 — B)

s T.€.Sin(1/2 - B)=cos B unm sin(1r/2 —a) = cos a



" JEE—
s sin(a+B)=cos (m/2-(a+P)) =cos((1/2-a)-B)=
= cos(tr/2-a)cos B +sin(tr/2-a)sin B =
=sinacos B+ cosasinf

s sin(a-B) =sin(a + (-B))= sin a cos(-B) + cos a sin(-p)=
=sinacos B -cosasinf

Taknm obpasom,

sin(a+ B)=sina-cos B +cosa-sin 3

sin(a— B)=sina-cos B —cosa-sin 3



s fg(axPB)=sin(axP)/cos(axfP)=
=(sin a cos [Bxcos a sin 3)/(cos a cos B =
sin a sin 3)=

=(tga+tgB)/(1=tg atg p)

s AHANOrnM4yHoO
ctg(a £ B)=(ctgactgB=+1)/(ctg B £ctg a)
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1) cos75° = 003(450 + 300): cos 45° -cos30” —sin 45° -sin 30° =

N2 3 V21 Je-42

2 2 2 2 4
2) sin 210° =sin(180° +30°) = sin 180° cos30° + cos180° sin 30° =
:O'ﬁ-l—(—l)‘l:—l
2 2 2

0 0
3) 1g225° = 1g(180° + 450 )= (8150 *1&H __ O+l _,
1-22180" -zg45” 1-0-1

“.ctgds® -1 0-1-1
4) cig135® = 1g(00° 1+ 450)= <820 _crgts —1_0-1-1_
ctg90" +ctg4s 0+1




